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1. Pemure ypaBHeHne cos2x = ok
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2. Peumre ypaBHeHue Sin3x = ——.
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3. Pemnre ypaBHeHHE SIn— = ———.
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4. Pemmre ypaBHeHHE COS - = ——.
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6. Peunre ypaBuenue tg3x = —1.
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7. Pewwre ypasuenne sin(w(x—2)) =0.
1) {0; 1; 2; 3; 4; 5}
3) {0; 15 2; 3; 4, 5; 6, 7}
5){0; 1; 2; 3; 4; 5; 6}

4) {2; 3;

8. Pemmite ypasuenne cos(m(x—3)) =1.

D1 22 33 4H4 55

. 4nx
9. Pemnre ypaBHenune 1 —2sin =3 = 0.
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5) {gs ga ?’ ?’ §’ ?, ?s ?’

2) {1; 2; 3; 4, 5; 6}

4; 5; 6}

6) {0; 1; 2; 3; 4}
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10. Pewwre ypasuenne 1 —v/2cos - = 0.

1 2 7 5 8 1
Dy 23 33 3 N3 63

11. PemmTe ypaBHeHue g (g(xf 3)) =1.
)20 2)16  3)0 44 524 68

n
12. Pemmurte ypaBHeHue cfg (Z(x — 1)) =1
D2 28 31 44 56  6)3
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